2013-09-30 parim 4 2013- 09- 30

Jakotaulut

6 poytaa, 12 paria. Jakomdara: 27. Keski: 135.

Sija Pari Pisteet $  Nimi Kerho

1 4 171 63,3 HENRIK LAAKSONEN - LEIF MICKELSSON Salon Bk

2 7 169 62,6 MARKKU KANERVA - JARMO LAAKSO H6 Bk - Salon Bk

3 2 161 59,6 TIMO MAKELA - EINO NYGREN Salon Bk

4 1 156 57,8 PATRIK ERIKSSON - ARVO PRIIMAGI Turun Bk - Salon Bk

5 5 150 55,6 BIRGER SALONEN - ENSIO LEHTINEN Salon Bk

6 10 144 53,3 PERTTI HOLMBERG - ANNU LAUKKANEN Salon Bk - Turun Bk

7 8 136 50,4 RIITTA-LIISA MAKELA - ANNE VESANEN Salon Bk

8 6 128 47,4 ANTTI ALEN - VELI-PEKKA LUKKA Salon Bk

9 9 108 40,0 KARI LAUNIS - MARKKU JUVA Salon Bk

10 12 104 38,5 TAISTO LOUHIKOSKI - ANTTI VOITTO Salon Bk

11 11 99 36,7 STIG-OLOF ANDERSSON - HARRY VUORINEN Salon Bk

12 3 94 34,8 ULF HELENIUS - LASSE SALORANTA Salon Bk
Jako: 1 Jako: 2
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
4 9 2S5 S +2 DA 170 9 1 2 5 3N N +1 HJ 630 7 3
7 12 2S S +2 DA 170 9 1 4 9 3N N +1 H7 630 7 3
6 8 2S S +1 D2 140 6 4 7 12 4N N = H6 630 7 3
2 5 25 s =2¢C3 110 4 6 10 1 3N S +1 HQ 630 7 3
311 3H W -2 S8 100 1 9 311 3N N = H3 600 2 8
10 1 2N W -2 89 100 1 9 6 8 2N S +2 HQ 180 0 10
Jako: 3 Jako 4
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
3 11 3N W +1 D7 -630 10 © 7 9 25 W -2 CQ 200 10 O
2 5 4SS E 42 C4 -680 7 3 10 2 35S E -1 C2 100 8 2
6 8 4S E +2 C8 -680 7 3 8 12 25 W = CQ -110 6 4
7 12 3N W +3 Cé6 -690 4 6 3 6 1s W +2 CQ -140 2 8
4 9 6S E = D2 -1430 2 8 5 1 2S5 W +1 CQ -140 2 8
10 1 6N W = D4 -1440 0 10 11 4 2S5 W +1 CQ -140 2 8
Jako: 5 Jako: 6
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
7 9 4s S +1 D6 650 10 0 8 12 3N N +2 HS8 460 10 0
5 1 4s S = H3 620 7 3 5 1 4H N = D8 420 8 2
10 2 4s s =cC2 620 7 3 3 6 3N N =C7 400 4 6
8 12 3N N = C5 600 4 6 7 9 3N N =C6 400 4 6
3 6 3D N = HJ 110 2 8 11 4 3N N = C7 400 4 6
11 4 3N N -1 C5 -100 0 10 10 2 4H E -1 D2 100 0 10
Jako 7 Jako: 8
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
4 7 3N S +3 C6 690 9 1 10 3 3N S +3 C2 490 10 0
10 3 3N S +3 DK 690 9 1 4 7 4H N = SK 420 7 3
5 11 4S N +1 DQ 650 6 4 8 1 4H N = SK 420 7 3
8 1 3N N = DQ 600 4 6 6 2 3N N -1 SK -50 3 7
12 9 2S N +2 DQ 170 2 8 12 9 3N N -1 s4 -50 3 7
6 2 2N S +1 D4 150 0 10 511 3N S -2 s4 -100 0 10
Jako: 9 Jako: 10
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
5 11 3Hx E -4 C7 1100 10 0 7 3 3N S = H6 600 10 0
4 7 4Sx N = HA 590 8 2 1 12 2Hx E -2 389 500 8 2
10 3 2S S +2 H2 170 6 4 10 4 2S W -2 H10 200 6 4
12 9 25 S = DK 110 4 6 5 8 2N S +1 HS8 150 4 6
6 2 2H E -1 C7 100 2 8 9 2 3C N +1 sS4 130 2 8
8 1 2H E = SA -110 0 10 6 11 5C N -1 HA -100 0 10
Jako: 11 Jako: 12
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
7 3 4Hx E -3 S3 500 10 0 6 11 35S W -3 HJ 150 10 0
112 2S N +2 DA 170 8 2 10 4 2S W -1 HJ 50 8 2
5 8 4H W -3 CK 150 6 4 7 3 3C E = HA -110 6 4
6 11 2S N -1 C3 -50 3 7 9 2 1IN E +3 S3 -180 4 6



10 4 3s s -1 DA -50 3 7 112 3H N -2 DA -200 1 9

9 2 4Sx N -2 HA -300 0 10 5 8 3H N -2 DA -200 1 9
Jako: 13 Jako: 14
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
11 7 2N W -4 H4 400 10 O 1 3 3N E -3 H2 150 10 O
8 4 2S5 E -2 HK 200 7 3 6 9 3N E -2 C4 100 8 2
10 5 1IN W -2 H2 200 7 3 2 12 2H W +2 C9 -170 6 4
1 3 2H S +2 S3 170 4 6 8 4 4H W = HA -420 2 8
2 12 1H N +2 C6 140 2 8 10 5 4H W = C5 -420 2 8
6 9 4Hx N -1 S6 -200 0 10 11 7 4H W = SA -420 2 8
Jako: 15 Jako: 16
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
1 3 5D wW-1¢cC2 50 9 1 2 4 3N N +1 D8 430 9 1
10 5 4H W -1 D10 50 9 1 12 3 3N S +1 D3 430 9 1
6 9 2H W +1 D10 -140 6 4 7 1 3N N = S6 400 5 5
2 12 4H wW = Cl0 -420 2 8 8 11 3N N = S10 400 5 5
8 4 4H W = D10 -420 2 8 9 5 25 s -1 D2 -50 1 9
11 7 4H W = D10 -420 2 8 10 6 3N N -1 S3 -50 1 9
Jako: 17 Jako: 18
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
10 6 5D N = D2 400 9 1 8 11 3N N +3 H2 690 10 O
12 3 3N N = He 400 9 1 2 4 3N N +2 H6 660 6 4
7 1 2D N +4 He 170 6 4 7 1 3N N +2 H6 660 6 4
8 11 2S5 S +1 HA 140 4 6 10 6 3N N +2 DJ 660 6 4
2 4 2D N +2 H2 130 2 8 9 5 4s W -1 HA 50 2 8
9 5 2D N +1 H6 110 0 10 12 3 4Hx N -2 CA -500 0 10
Jako: 19 Jako: 20
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
4 12 6N N = S8 990 10 O 4 12 4s S = HA 620 9 1
1 6 3N S +4 C2 520 8 2 9 11 4s s = HK 620 9
9 11 4H N +1 S2 450 6 4 1 6 3S S +1 HK 170 5 5
3 5 6H N -2 C8 -100 4 6 3 5 35S N +1 HJ 170 5 5
8 2 6H N -3 C8 -150 1 9 8 2 2S N +1 HJ 140 1 9
10 7 6N N -3 C8 -150 1 9 10 7 3S S = HA 140 1 9
Jako: 21 Jako: 22
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
8 2 2S5 S +1 ca 140 9 1 512 3N W -3 SQ 300 10 O
9 11 25 S +1 CK 140 9 1 9 3 25 S +1 CK 140 8 2
3 5 4S S -1 HK -100 5 5 10 8 4C E +1 DQ -150 6 4
4 12 4s S -1 HA -100 5 5 2 7 4Sx N -3 CK =500 4 6
10 7 4C E = SK -130 2 8 4 6 5D W = SQ -600 2 8
1 6 55 S -2 CK -200 0 10 11 1 5D W +1 H7 -620 0 10
Jako: 23 Jako: 24
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
4 6 3N S +1 CK 630 8 2 2 7 4S W = HK -420 7 3
512 3N S +1 CJ 630 8 2 4 6 4S E = HK -420 7 3
10 8 3N S +1 CK 630 8 2 512 4S E = HK -420 7 3
11 1 2N S -1 CK -100 4 6 10 8 4s E = HK -420 7 3
2 7 3N N -2 CK -200 1 9 9 3 4s E +1 cA -450 1 9
9 3 3N S -2CJ -200 1 9 11 1 4s E +1 Ce6 -450 1 9
Jako: 25 Jako: 26
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
2 11 3H W -1 H3 100 9 1 10 9 3N E -1 S5 100 10 0
12 6 4H W -1 SA 100 9 1 2 11 2N W +2 HQ -180 8 2
10 9 1IN W +2 S2 -150 6 4 3 8 3N W = HJ -600 6 4
1 4 3H E +1 SA -170 4 6 1 4 3N W +1 HA -630 3 7
3 8 4H W = CA -620 1 9 5 7 3N W +1 HA -630 3 7
5 7 4H W = SA -620 1 9 12 6 3N W +2 S8 -660 0 10
Jako: 27
Pari Sit LK Tulos Pisteet
5 7 2S N +1 D4 140 10 0
1 4 3N S -2 DK -100 4 6

2 11 4H N -2 D6 -100 4 6



3 8 3N N -2 D4 -100
10 9 3N N -2 s3 -100
12 6 3N N -2 S6 -100

Jakotaulut



